¢ONCEPT AND VOCABULARY CHECK
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3. The power rule for logarithms states that
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Exercises =40, use properties of logarithms to expand each

logarithmic expression as much as possible. Where possible,
graluate logarithmic expressions without using a calculator.
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4. The change-of-base property for logarithms allows
us to write logarithms with base b in terms of a new
basc «. Introducing base a. the property states that

logy, M = ———.

43 Inx +1In7 4.
45, log,96 — log, 3 46.
47. log(2x + 5) — logx 48.
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In Exercises 71-78, use common logarithms or natural logarithms
and a calculator to evaluate to four decimal places.

71. logs 13 72. log, 17 73. log 875

74. log57.2 75. logy, 17 76. logy; 19

77. log.. 63 78. log,, 400

In Exercises 79-82, use a graphing utility and the change-of-base
property to graph each function.
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79. vy = logzx logsx

81. v = loga(x + 2)

80. v
82. v = logs(x — 2)

Practice Plus

In Exercises 83-88, let log, 2 = A and log, 3 = C. Write each

In Exercigeg 41-70, use properties of logarit hms to ¢ i
U8arithmie expression. Write the expression as a sin ;,tl(' !ugurtrhm
hose coefficient is 1. Where possible, evaluate logarithinic
“Pressiong without using a calculator.

Wologs 4 log 2 42. log 250 + log 4

expression in terms of A and C.
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